
A Sports Club wants to hire a mini-bus 

Children under 16 can travel for £5
Adults travel for £10


Conditions (or constraints) apply:       equations included in white text so highlight and change when ready!
The total number on the bus must not exceed 14:


Constraint 1:

No fewer than 10 people are to travel on the trip:



Constraint 2:

There must be at least as many kids as adults:


Constraint 3:

The object of the exercise is to calculate the maximum amount of money that can be raised from the trip, or in mathematical terms . . . 

£(5x + 10y) is the money received (there are ‘x’ kids and ‘y’ adults on board)

So what is the maximum value of the objective function: P = 5x + 10y

taking all the above constraints into account?








Introduce the variables:		x = the number of children


					y = the number of adults





x + y ≥ 10

















Linear programming





x ≥ y








x + y ≤ 14








Write your estimate of this maximum value of P here:











 


Graphical methods for solving this problem follow! . . . �HYPERLINK "81LinProgSolution3.20.doc"��continued�
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